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QUESTION 1

What does via foo in the exhibit designate? 

A. an action foo associated with the transition 

B. transient pseudostate named foo 

C. a transition terminating on the foo entry point 

D. a Boolean guard equal to the logical value of foo 

E. the sending of a foo message on the transition 

Correct Answer: C 

 

QUESTION 2

What symbol depicts a Call Behavior Action? 

A. A 

B. B 

C. C 
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D. D 

E. E 

Correct Answer: E 

 

QUESTION 3

How many bar shapes can appear in a well-defined activity diagram? 

A. exactly two 

B. an add number 

C. an even number 

D. any number 

Correct Answer: D 

 

QUESTION 4

What does a region in a state machine represent? 

A. part of a composite state or a state machine containing transitions and vertices 

B. contained state machine 

C. concurrent object owned by the context object of the state machine 

D. separate thread of execution 

E. concurrent state 

Correct Answer: A 

 

QUESTION 5

What characteristic does a behavior port possess? 

A. owns the behavior of the classifier that owns the port 

B. must have a protocol state machine 

C. has its own behavior that is distinct from the behavior of the classifier 

D. relays any incoming messages directly to the behavior of the owning object 

E. defines the behavior that the owning classifier must realize 

F. is a kind of behavior 
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Correct Answer: D 
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